10/8/2019

Odisha Teacher Eligibility Test

SIS0 Gg HQM’, ool Odisha Teacher Eligibility Test

5 BOARD OF SECONDARY EDUCATION, ODISHA

CUTTACK-1 Grievance View response Logout
Create

Name

Roll No Paper- 1
Subject Paper 1 Date' 9'Aug'201 9
Shift- 2nd

QID : 151 - In which of these phases are children apprehensive about failture and anxiety hinders
their growth?

1gER FUIQ 699 0R86R ARFIGFA TRG! G TR ANT! 629 6ATATR 9B QRIIGIY 99 ?
Options:

1) Early Childhood
JIoda 686Q

2) Later Childhood
ARIQ 688S

3) Adolescence
6268

4) Infancy

6962 (9gg 1 9d adie)

Correct Answer: 3) Adolescence
6681

Candidate Answer: 3) Adolescence
6641

QID : 152 - In which of these phases, children love to play with toys and imitate parents and
cartoon characters?

IgER I 626 0R6Q TNIFIER 69RAI AR 651RRIQ AN AIRIE 6 JAIFIGI 8 AIFR AIRT ARSI @Q& ?
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Options:

1) Early Childhood
JIoda 686Q

2) Later Childhood
A8Q 688

3) Adolescence
6@6aIR

4) Infancy

6962 (@gg 1 9d adie)

Correct Answer: 1) Early Childhood
108e 6dlae

Candidate Answer: 1) Early Childhood
JIoda 6869

QID : 153 - At which stage, do adolescent or young adults begins to think abstractly and reason
about hypothetical problems?

699 9REIER 6EAIR QI QAR FESIRAIEH 2FR T3F KRRl 203 F98 6 IFRFS AR FIQY 6SI9E?
Options:

1) The Formal Operational Stage
QO aIdiel g9

2) The Concrete Operational Stage
gn arIdieT e

3) The Preoperational Stage

gI] QQIAYI IQ

4) The Sensorimotor Stage

A°6QQ1 @@ IR

Correct Answer: 1) The Formal Operational Stage
QO aIdiel g

Candidate Answer: 4) The Sensorimotor Stage
A°6QQ1 @@ IR

QID : 154 - Which of these is not a development change taking place in the Sensorimotor Phase?

\']‘c’;l@@ Q. @ IR QRIS AN JRQRR A°6QQ AR PAER 62IRAN ?
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Options:

1) They are separate beings from the people and objects around them

Qle QIRCIFER 2Jal ERANER 8 9ZYeR OIQ 6AgLPR UG AT

2) Infants learn that things continue to exist even though they cannot be seen

JYAIER(RACTUIL) FHB6A 6QY F6L6M FII KAY QF2IN

3) hildren learn about the world through basic actions such as sucking, grasping, looking, and
listening

dml 9AQI, §AQl, 6Q¢Ql @ géial FIl IRl & FVACR RI&IN

4) Children begin to think symbolically and learn to use words and pictures to represent objects.
ARIFIER APERTR QIRER TR 2R FAE G N2IQ 2FIRGI UIR 99 8 FQ LR G

Correct Answer: 4) Children begin to think symbolically and learn to use words and pictures to
represent objects.
JNAIER ACRER QINEQ TBR 2R KT B 1alq Q4IRS AR 92 6 F9Q LI TG

Candidate Answer: 2) Infants learn that things continue to exist even though they cannot be
seen
SGAIER(QAATYIL) FHBEQ 69Y F6TEM F1X FAV Q@I

QID : 155 - The knowledge of heredity and environment helps the teacher in all these ways
except

Q°9IQQ¢ 6 IREIQ KIQ FVRT Q4e16 Y€ AAIYEQ AIRIYY KEQ ?
Options:

1) to know the varying needs and abilities of the children

JNIQ SRR ARG 8 @VRI FIEial

2) helps the teacher to classify the students as gifted, normal or slow learner

ARAIGG 671G, ARJIRE QI U1Q FYILH AR AFRAE FERIER FIRT ALY F6Q

3) It helps the teacher to discriminate and not provide right career guidance

N2l 99 999156 28RIQ Y6IF @ 8 RUYS AATIER AU6s G2 AIF |

4) helps the teacher to organize various curricular and co- curricular programmes for the best
benefit of the children

IR AR AIR FA@ G8R AI0IFA G ALAI0IFA AIIGT 2CAES AR AR JFE ALY F6Q

Correct Answer: 3) It helps the teacher to discriminate and not provide right career guidance
2l 999G dFUIGE! @I 6KIT T 6 QUYS AV RUERE G Qe |

Candidate Answer: 4) helps the teacher to organize various curricular and co- curricular
programmes for the best benefit of the children
INAINFA NI AIR TR F6R TI0IFA B ARACIFA AINIFA 2ICAIFE FAR TIR FIRT AILIAY FER

QID : 156 - The process of taking in new information into our already existing schemas is known
as

gag Q! 27 ABAR 5966a G2 IO 924 K991 QaldiaN ?
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Options:

1) Assimilation
AR

2) Accommodation
QUCLIFQ

3) Equilibration
Lellrol

4) Activation
AGAQ!

Correct Answer: 1) Assimilation
AR

Candidate Answer: 2) Accommodation
QAR

QID : 157 - Which type of attention becomes focused upon certain objects without any particular
effort on the observer’s part because of interest, it is called immediate attention.

626 9RI0Q F6RIQ4 AFERAINFNIAIR 77 F66F 698 G4 2IGe AR 78 GA] 9g AT6R 69L1G 2R
3 QIq QIR F6RIQAI @RKIRAN ?

Options:

1) Derived Attention

*9de a6qlsalIsl

2) Immediate Attention

LRIN C16R164IG]

3) Abstract Attention

2A¢JR F16Q16QI4

4) Sensory or Concrete Attention
Q°6QQ1 QI g (16R164IG!

Correct Answer: 2) Immediate Attention
PRIP A1ERIEQ

Candidate Answer: 3) Abstract Attention
2A¢JR F16Q16QI4

QID : 158 -
The third stage of psycho-social development between three to five years of age is characterized
by the crisis of

0RQ Are 9d QA AIER AER-ANIS AR YOI 6QUAR Q ARG T6HIVGI 26T
|
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Options:

1) initiative vs guilt

dERd Q@I 2D

2) identity vs role confusion
dRe% QRIF @Fiel ge

3) industry vs inferiority
QMG QIF LIRAMOI

4) intimacy vs isolation
2ABAGT Q@RIC1 Al

Correct Answer: 1) initiative vs guilt
A6/ QRIF AAQUR

Candidate Answer: 2) identity vs role confusion
AqeL QRIF PRI g

QID : 159 - "Individuals are more likely to adopt a modeled behavior if it results in outcomes they
value" is stated in which of these theories?

606 daIe QEiN6d "aQ JRIFIER IR NLLIR Gl FAIAIRAYF TRITR 62REIN, 6561 6276R FITIQ F2d
QQF2AZ" ?

Options:

1) Structure of Intellect Theory
98Q L°QeRI 6Q

2) Transformational Learning
QQIBAG Eigl

3) Dual Coding Theory

QUM 6RIG° 0Q

4) Social Learning Theory
AATR Y GQ

Correct Answer: 4) Social Learning Theory
AIGR R O

Candidate Answer: 3) Dual Coding Theory
QUM 6RIG° 0Q

QID : 160 - Which of these are not characteristics of "Positive Reinforcement"?

1gER FUIQ R4 "gRIAR 9R18R4"Q g8 g6L ?
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Options:

1) occurs when increases in a desired target behavior are observed
6dEeeeR FINANLIQYR! UL AR, 6QA6C6RER 6NN

2) smiles, praise and happy faces

269, 98°dl @6Q 6 ¢3 gL

3) needs to be demonstarted and then expect the learners to follow
gaIes QEIdQl R8Q 8 96a JRILIAIER 2GAE ARER

4) punishments and timeouts

QERUIR B FIRTARAG

Correct Answer: 4) punishments and timeouts
QERIIR B FIRAIRAR

Candidate Answer: 2) smiles, praise and happy faces
264, 98°Al @6Q 6 §3 gL

QID : 161 - What is the type of learning in which one prefers to learn in groups or with other

people?
69 JRIQ SRI6Q YRTC AR A AR CRIRE AL VI GE AAREAIGY 6QIR2IN ?
Options:

1) kinesthetic
QG Qg8

2) intrapersonal
238 BAIS

3) interpersonal
QTSIe Y1

4) visual

Q4 A1

Correct Answer: 3) interpersonal
BGIe A

Candidate Answer: 2) intrapersonal
B8 QUBAIR

QID : 162 - Which of the following is not a characteristic feature of learning?

1gFR FUIQ 699 JNIQ IR 674QY Q6% ?
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Options:

1) It is the process of mental development-cognitive, psychomotor and affective domain
9@l A193@ SRR YAl 263, ARIFICR, FERINNE 6 IR QR

2) is the permanent change in the behaviour and a process of growth

N2 QIQLIR6Q IR I ARRER 26T 8 QRA 9@ YRl 26T

3) Itis the acquisition of habits, knowledge and attitudes

QI 2QYIQ, RIS 6 9@ 9248 @0<l 266

4) It is a process that ends at college graduation

21 9@ gaQl 9ISl RERREQ IR AR A6q AR

Correct Answer: 4) ltis a process that ends at college graduation
21 4R gqQl 9ISl KERREQ IR AR A6q AR

Candidate Answer: 4) Itis a process that ends at college graduation
V@l R gQQll QIQl R6AR6Q 0w AAR! J6Q AR

QID : 163 - Samagra Shiksha provides CWSN (Children With Special Needs) girls from Class | to
XII a stipend of how much per month?

Q79 891 CWSN (3649 2Iquaal 29l 8ig) 82 aieg 69411 @ Xl adis AIdq 6266 OF 08l 6998 ?
Options:

1) Rs 200/-
2) Rs 500/-
3) Rs 1000/
4) Rs 5000/-

Correct Answer: 1) Rs 200/-

Candidate Answer: 2) Rs 500/-

QID : 164 - Slow learners need special teaching strategies, which among these will be not be a
very effective strategy for slow learners?

A1 FRILl QIeE QIR G649 JI QIR 2REYR 26T, IFER FRIQ 6246 1R FRIIAINE AR 2AYS AL
Q6% ?

Options:

1) Individualised attention

QTGS FI6RI6LIG!

2) setting tasks as per the desired 1Q level rather than the mental age
Alede g FOREQ AIFIRALRERN 1Q I 2QI196a QILY 69a!

3) developing healthy classroom environment

Q¢ 6941192 A6 Gade @Al

4) peer acceptance

LdI0lw Il QE1e 69Q
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Correct Answer: 2) setting tasks as per the desired IQ level rather than the mental age
AIde 2Ig QAREA 2FIRALIRYS! 1Q IQ TAIRER QI 6Qa!

Candidate Answer: 1) Individualised attention
QTSIG FI6RI6LIG!

QID : 165 - Which of these is not a contributing factor for most girls dropping out of school?
NGER RIQ 676 RIS 64Ig] 2RIG B2 SMIRG BIFUG ?
Options:

1) they donot perform as per the average 1Q of the class
6216 6541Q LAULIR 1Q FAIRER JAIR 998 Q1T

2) costs for schooling , uniforms and books

ARG, GRTE 6 A2Q &

3) inadequate sanitation facilities

2a94Ig 986! gl

4) early marriage

a1g) Sl

Correct Answer: 1) they donot perform as per the average 1Q of the class
62¢1I6R 64411Q LIQILIA 1Q TAIRER Yada 998 QIT

Candidate Answer: 4) early marriage
d1g Sl

QID : 166 - Which of these is a characteristic of a High Achiever but not necessarily Gifted or
Creative Thinking Child?

1GER FIQ R€ 2GIOIQ 2R AR KR TRIQ F4I 26T g ISR Agl RGN TRIQ J& Q6L ?
Options:

1) Prefers the company of creative peers but often works alone.
gRAIR A2AI0TF 42 AIF 94 @F IRl QIdY K6

2) Performs at the top of the group.

QP6Q Q1Y RAI6Q AGOIR ATER AR

3) Overflows with ideas--many of which will never be developed.
269 QIS TN - AIFICRIQ U6 62697 IS 629 AIF

4) Daydreams may seem off task.

QQI99; AIIQ 2RI Q@ A& MIFTAIER

Correct Answer: 2) Performs at the top of the group.
QR6Q Q1KY RAI6Q AGOIR 2TER AR

Candidate Answer: 3) Overflows with ideas--many of which will never be developed.
2690 RIS AITEIN - AFIUQ AR 696G IS 621 Q1T
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QID : 167 - When a child finds it difficult to understand word meanings etc ... the child suffers
from

QG @64 8¢ Sa18 GRQI6R 2AANE F9.... 6962 ARG 6QI5I6Q A1Ge ?

Options:

1) Dyscalculia
GaARimgRal

2) Dysgraphia
@agIzal

3) Dyspraxia
@agigall

4) Dysphasia
Gaaiqal

Correct Answer: 4) Dysphasia
caidal

Candidate Answer: 4) Dysphasia
lela{lats]

QID : 168 - Which of these is not an important aspect of teaching - learning of socially and
culturally backward students?

gea FUIQ 699 AFIFR 6 ALRYER VIR 2GFAR IRFA JI AR JRRgd 7918 g6L ?
Options:

1) Understand the learner's level

da1dia 29 g@al

2) Acknowledge the difference in dialect of language spoken if any
QLIRLYC! QIVIER FUGIY F28 @Q B Y°A /R

3) Ridicule the learner's background and draw comparison with other learner
dnIa QIRFIQ AR QQ G ARAIRE AL YRR 9

4) Use daily life examples

6LRRR P97 AQILAE IR AR

Correct Answer: 3) Ridicule the learner's background and draw comparison with other learner
JRIG 9IQAQ QAL @A B ARAIRE A2 PR7! 9

Candidate Answer: 4) Use daily life examples
6ER0R F1R7 ARILAE MRLIQ @}

QID : 169 - Assessment is considered a continuous and integral part of the teaching process
rather than just term end assessments in which type of teaching?

622 gRIQ SRI6Q NG 6297 9F 699 AL F62IR FA8Q 62IR2N G ST JRAIR IR AR 26k
6QIR2IN ?
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Options:

1) Monograde
NEERRIN

2) Multicultural
QEAYLR

3) Multigrade
QeI

4) Regular
fade

Correct Answer: 3) Multigrade
QgegaI

Candidate Answer: 3) Multigrade
QgegaI

QID : 170 - Which of these is not a strategy adopted by teachers in a Learner centric Approach?

@ §R121 6919 98G6a dRIE IYER IQ @¢ Fe8 @RRaIE ?
Options:

1) delivering long lectures on a topic

IR SFAER Al QU 69K

2) having students read books at their own reading levels
INAIRG 67T 2Q TAIREQ 9T URIQ 6Qal

3) offering different spelling lists to students

@ﬁllﬂl@@: QAR Y1 6QQl

4) meeting in small groups to reteach topics

Q999 2RA6Q QR IR Y 691F16Q 6853l

Correct Answer: 1) delivering long lectures on a topic
Q@ SFAER Al QU 69K

Candidate Answer: 2) having students read books at their own reading levels
JNAIRG 67T 2Q TAIREA 9T URaIq 69al

QID : 171 - Which of these TLM's (Teaching learning materials) is a diagrammatic representation
of a system, process, and historical sequence of events used to summarize, illustrate, compare or
contrast, communicate the subject matter in an effective and a concise way?

gRR AIQ 629 9RIea TLM (924 QiAg) 6208 Ia 03, Jaa 6 1021de AesIgaa 6507 Qdal 269
QIR JRIST QIFER B VY VIFEA FAARQ AIAIY 6891, QIR YRR 2GR, 66T KB AR LS
297?
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Options:

1) Charts

QI

2) Maps

NI

3) Posters
6919Q

4) OHP's Slides
OHP Q9@

Correct Answer: 1) Charts
QI

Candidate Answer: 1) Charts
QI

QID : 172 - All of these are the pillars on which Competency-based education rests other than ?

O1G IGER AL 620F 22 6JRE6R 6AINGI-RER JVIR AR AFela?
Options:

1) Curiosity and Imagination

6192w 6 @aql

2) Agility and Adaptability

Ja1 6 2AGRAEIRS!

3) Accessing and Analysing Information
Joq! ARSI 989! 8 AN @GR!

4) Achieving top grade and excellence
QM 69] 8 2RI TIAN KAS!

Correct Answer: 4) Achieving top grade and excellence
QM 692 8 ARG TR KAQ!

Candidate Answer: 1) Curiosity and Imagination

621927 6 @aql
QID : 173 - Teacher Centric methods are also called as
9@ 6518 986 6QIM F11I QRIQIREIN?
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Options:

1) closed-ended methods
6QI9-964Q JRG

2) open -ended methods

6AQ 968Q A8%

3) front - ended methods

Fe-168Q ARG

4) back - ended methods
IR I68R ARG

Correct Answer: 1) closed-ended methods
6QI9Q-964Q J8G

Candidate Answer: 2) open -ended methods
6AR 168RQ ARG

QID : 174 - Which of these is an advantage of Teacher-centered Approach?
NgER I 6266 JAR 6a91R J85R 1@ AN 26T ?
Options:

1) doesn’t allow students to express themselves, ask questions, and direct their own learning.
dRIeG Aeq QIS AR, 99 A0IBIg 8 e JAIg F6r F6REE @ARlg 29as Fer AIF |

2) classroom remains orderly. Students are quiet, and you retain full control of the classroom and
its activities.

694192 97ie QIR6a QeI | TAIAIER §9 Q@2 B 6541920 AN ALY RUACR P67 ARG FIQ AR
3) instruction can be boring for students. Their minds may wander, and they may miss important
facts

geRl ARIFING G98 KRAIER | 6AAGFR 8 9646964 AIRAER B 627167 FRaYd 624 816 IR
4) students work alone, they don’t learn to collaborate with other students, and their
communication skills may suffer

aRIFI6R IR QIY KF, 627161 24 TRIF ALEAIF AR FEIE AIF, 6 6AIFFA 6QIFICAIT @RS 1l
GQId 6LIRUIER

Correct Answer: 2) classroom remains orderly. Students are quiet, and you retain full control of
the classroom and its activities.
6961912 I QA QTN | TRIFAIER QI AZeIE B 654192 ANY QIdY QAR Q6¢1 2RI FYIQ AR

Candidate Answer: 4) students work alone, they don’t learn to collaborate with other students,
and their communication skills may suffer

ARIFIER QI QY KQE, 627167 24 TRIg AR6AIT AR NG QIF, G 6ATIAFA 6AIFI6AIT QB! T
SQIY 62IRAIER

QID : 175 - The type of testing that is used throughout the school year often to check whether
students have mastered a unit of instruction or topic is termed as

ARIAIeR 1@ 9AQ 9oa! @l F9a 938 @1 FIZ 012 AIB AAQI IR Y AF Q AYRIPE ATLER 69X AN
deIq Q4990 62IRaIN Gl QIR IR |
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Options:

1) Summative Assessments
64IGle FIYIge

2) Interim Testing

499119 Al

3) Formative Assessments
FOR¢@ (Imilde

4) Diagnostic Testing
6FQTR A

Correct Answer: 2) Interim Testing
482 IP1e Al

Candidate Answer: 3) Formative Assessments
FOR¢@ (Imilde

QID : 176 - Which of these is not a recommendation of National Curriculum for Elementary and
Secondary Education in Reforming Evaluation Practices?

RIS 24 QIR 289168 gIRIFR 8 AlkFR JTIQ K919 AI0IFN AR NgER AIQ @6 1@ JaIRE gL ?
Options:

1) Defining minimum levels of learning at all stages of education while evaluating the attainment
of children

JBQ AN 6QAIIFER TR FVSIQ ARG @D FVIQ ASRE FAQ LR 629

2) Broadening the scope of learners’ assessment by way of including the assessment of
psychomotor skills and socio-emotional attributes.

FERINING QVG! B AUINITR-2ICRTR F6HTIRQ R 926 JVNEIQ JAUIAGa TR 2@ Kaa

3) feedback mechanism for the benefit of teachers, learners and parents providing timely
corrective measures for improving attainment level of students

IRFIIFQ AVOIR 3 ARG PRI AIR ATV QIR RIS 6AINIR TR, TV B LFART AR AR
gega Quegl

4) Laying more stress on formal methods of testing

AIFIQ AR ARGY AR JRQ 6Qa!

Correct Answer: 4) Laying more stress on formal methods of testing
ANVQ BRI AFEYG 2R IR 6QQl

Candidate Answer: 4) Laying more stress on formal methods of testing
JQIBIa AP ARGY AR JQQ 6Qal

QID : 177 - Which of these is true for Continuous and Comprehensive Evaluation?

302Q 8 QIR JAILE AIR 1gER FIQ @8 OR 268 ?
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Options:

1) Scholastic areas such as knowledge and understanding of the facts is the only goal
6Q18@ GAL 6IFIER RIF 8 QA QIIAEI 62RF IRAIG RAY

2) Co-scholastic elements should be excluded from evaluation

JRUINRQ A2-6Q18@ Q0GR AR QUL AR

3) Scholastic and co-scholastic both should be given importance

6QlER 8 A2-6Q18Q, AEAT R G /e]

4) Complex means of assessment is an essential aspect

9@ INILER a5Rel gagd 986aId 263

Correct Answer: 3) Scholastic and co-scholastic both should be given importance
6Ql8Q 8 A2-6Q1EQ, QULG QR TUITQl Q%]

Candidate Answer: 2) Co-scholastic elements should be excluded from evaluation
JRUINRQ A2-6Q18@ QIae LR AAULF AR

QID : 178 - Which of these is assessed under "Thinking Skills"?

NGER RIQ A4 "08F GACI" 2ABHS INIIAG 6QIRAN ?
Options:

1) He/she tries to give new ideas or concepts to go beyond conditioned setups

AGYRE QIARIQ ALIag J9 QIR 62 Q2 QAIL QI ATIS 621G 60V A6

2) Show patience during a group task for slow learners to complete their task

QR9IG QIY6a dgldiE QI 9RRI ARSI QIR 6AFIeE IR 6JdY 62312

3) Try to help a classmate who is feeling low or who's unable to cope up the given work
e F69002ial @l T QIdY *FAIRRAR, 620G ARAI0TY ALY FAIQ 698 AR

4) Always like to be appreciated

ARIFI6R ARG g9°al ARRIG AAR FAE

Correct Answer: 1) He/she tries to give new ideas or concepts to go beyond conditioned
setups
AGGRG AR ALIQG 9l AIR 62 92 QAIG <1 ABIB 6QQIQ 698 K6

Candidate Answer: 2) Show patience during a group task for slow learners to complete their
task
QR90 QIdiea daldiE RIdig FRFI K89l AIR 67T IR 68Dy 62312

QID : 179 - Effective teachers regularly assess what they do in the classroom and whether their
students are really learning using all these techniques other than

JRUQEIR @ 65411926 ALl @02 8 GIF FIGAISR S1E YO AR ALY
6167 Jg88 @I QI SI9IQ 6TRRA INILE AGaIR |
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Options:

1) Obtaining frequent feedback

fadie 969e alam @ael

2) Soliciting student opinion during the term
IR AG F1IEQ TRARFR AR 1T

3) Assessing a course at the end of the term
QI0Y ATAQ TR AT FVLQ RIS @RS

4) Neglecting students interest levels and ideas
NPT 2IGe 2Q 8 QALY REAY *QS!

Correct Answer: 4) Neglecting students interest levels and ideas
dNAIREQ 2IGL 2Q 8 QALY REAY *QS!

Candidate Answer: 1) Obtaining frequent feedback
fadie 969d alam @Al

QID : 180 - Assessment is considered an important part of Teaching -Learning Cycle, which of
these does not fulfil the need for assessments?

IAQAR-IVIYRE 9FR IR QIR 2°S 6298 JRUIAG | IGPR ARIQ A JRYIAAR AREHRGIQ IR FRAIRRIE
?

Options:

1) The Education Review Office can use assessment information to inform their advice for school
improvement

391 9998 QIdUIRa FRUIRAR AR5 IR 6ANRFA QUCLE 6991 AIR JRIAR ORI QLR ARAIRES

2) government funding and policy intervention is distributed at random for improved student
outcomes

IR TRITR ARG ARSI dia AN AT G FA 26T 686G FUAAIER |

3) Students and teachers can use the information gained from assessment to determine their next
teaching and learning steps

ARIAIER B FBP RUIAFR IS IORIQ AR JFE IR6VA 69197 FRR AR QRIQ FRAIRER

4) School leaders can use the information for school-wide planning, to support their teachers and
determine professional development needs

ARIAIER B FAR RUIAFR IS YORIQ TR FTE IR6VA 699G KRR AR RLIQ FAAIRER

Correct Answer: 2) government funding and policy intervention is distributed at random for
improved student outcomes
JRRIREQ TRTR ARG ARG IR AR 226N 8 FAN 26V 6R69F FUAIRAIER |

Candidate Answer: 1) The Education Review Office can use assessment information to inform
their advice for school improvement
391 o8 QITHRE AR QAT IR 6ATIFA AUETE 6991 IR JNIILR ORI ML KATIRER

QID : 181 - 66lIGN QY QI AR ARIFIQ 62IR AR ?
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Options:

1)
2)
3)
4)

I 691R AIRAIER
Qg Al AV SIS AR
19 &<l AV @8 9G

@
$
5
dgQIq gQl QI @Rl IBF AL AR /]

k
g
S
Correct Answer: 1) @9l 6% ALIDIEQ

Candidate Answer: 2) dgQIg 2el QUSI6Q 616 IR

QID : 182 - AIGRITIY JQIRRIA AEREIG AITIQ QREAISER A°HI6Q 2GRS @l AIRAIR |

Options:

N =
Q) AQ 8 D
0) 0_5 S o)

H W
- = — —

Correct Answer: 1) QIQ

Candidate Answer: 1) QG

QID : 183 - 6¢1g@ — <°ae JQIEAIT @a16a Al @6Q |

Options:

1) GERR2 4% QLI

2) A0R QoIR8 ¥&° R Jgal

3) ISR QIER QI JgS!

4) Q918 QI6QIG QU 6QNER TR FRAR

Correct Answer: 2) Q0 Q2108 4&° Qg SigQl

Candidate Answer: 2) Q0 Q9IQ¢ 4&° Qg gl

QID : 184 - 9@ VR AR REXH Q4 26T ?
Options:

I QIRLIRER A°ER1Y URRRR IFAl IR

1) &
02 ATl 6719R6a Age I8 @RRl AIR
@
@

)
2)
3) 964 BIQ K68 AR AIFAR 6291 AR

4) 364l 813Q FIAAIR FFI6Q QIR AR AR

Correct Answer: 1) d3181e QIQLIQ6Q QI°LR1A GRS &Sl AN
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Candidate Answer: 3) Q64 219Q §68 AR AIFIAR 62a! QIR

QID : 185 - 654119269 K661 FAR FAR Q@S FJIQIR ARG 2SR AIRES ?

Options:

1
2

) 9R dIR 8IeBIgIT @86 @

)
3)

)

@
gIgeIgITa ALYGR JIRF AR G9Ia A
S81GI9q S QRERIS Y9 A°CIRE AJ6Q ToI9 @)
4) QU6QIB AN

Correct Answer: 3) dgIQIq G302 QE6RIE ¥Q° A°QIRT AU G9IQ @

Candidate Answer: 3) d3IQIQQ GG2 Q6RIE IQ° A°QIRR AU G9IQ A

QID : 186 - AYRIR g9 2Kl 622 6QUAIR 26T 6ALOIER

dl AGQ1 9Q° 6AYRI IR @Q 6QRelN

dRIg (QaISel) Igl ds AIRel, 622 2gIR |IF @AQIq IR @6 6QRelIN
dnl @I986a Gaq AR @Qa!

4) AT QA AR KR! AR IO IKG KRN

Correct Answer: 4) JRIG A AARIL K89 AR IOR IKG BN

Candidate Answer: 2) daig (92/32) Qiel §¢ll QIREN, 62T AFAIL QIF RARIQ AR! @ 6QR2N

QID : 187 - 3RS FRIQ 699 AU L1 ARG G6L7?
Options:

1) Q€I

2) QUIQQE 2QQIQ

3) QgQIL SRR goTal

4) RIARY A8G

Correct Answer: 1) o4QI9@

Candidate Answer: 3) Q¢QIg SR GGG

QID : 188 - SIgRILIA AFIAE] @9Q Ox QAUKIR AIRS?
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Options:
1) dRIQT QE6Q BIGRIGIAIER FEQIg QAITE @aal
2) 6297 99Q 28 FIEQI AIa 2I9RIFIT TG *Fa!
3) 219RIF1T 9@ AAIF Y& 2d Il AR AAIEG @RSl
)
@

4) 399 (RIS1 AF6Q SISRIFIAIER FARIg AATC KGQI) I9° (FIGRIFIF 9RQ QRIF 1e° 2 QIdiQl AR
QTG FAQ) @

Correct Answer: 4) 9Qg (dIa1 Q&r6Q SIGRIFIFIER §Ealq QUIEe @QQl) ¥e° (FI8RIg1F 8 Q]IQ
9Q° 22 QIdQl AR RYIEe 96Q1) Qag

Candidate Answer: 3) 2198I915 92Q 9QI8 Y&° 2 @8I AR AAIFE *AaI

QID : 189 - GYRYS FRIQ 699 YBNE QIS FFQl A JIRAR AR ANN6a A0R G627
Options:
1) 2 2IGBIQIFA URGIAR §6 Foq FITRI AR 2GAE 69R2N |
2) 92 SIGRIQIE F1U6Q Q19 9 QQYYQIQ 2! 6QCRG 26RIAITE @QIN |
)
)

3) 92l S99 goda Q20 dgaQl IRIGe 6alaRg d1g ATCAITS KAl AIRl AVF @RI |
4) QU6QIB A |

Correct Answer: 2) 2| 2IGRI91& F1:I6Q SId Q& @QIQIQ 2| 6QA7IRG 260I1AITG @GN |

Candidate Answer: 4) QJ6QIa AAL |

QID : 190 - G698 FIQ 629 671IR IRIE AR 6615 AT FVAIL FRUAIR 21N ?
Options:

1) AGQI, 6RYSI, KEQ, F&iQl

2) 9QQI, @G

3) @@Ql, g4

4) 6RYQl, @241, gial

Correct Answer: 1) 9gQI, 6RYQI, REQ, G4

Candidate Answer: 3) @2al, g&iql

QID : 191 - g4 ¢: A9 ARy Agdl AR AR AFOIQ IS IRE GAS @ag | adyiaeq, gos
g2 IR AAYS KRS 6Q1ER 0 G768 FIR AN

Options:

1) 99ie adyie

2) 996 aduie,

3) gRiIee adiie:
4) 2IRee aYIg
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Correct Answer: 2) 9@ adiia

Candidate Answer: 3) RuIeR AKiIo:

QID : 192 - 59 QINGFP AR AARE AANER 67RE FVIFLEG AR N° APYER ALER AAYS FGN?
Options:

Q69 AR

KRR FIQAIREA G168 L0 HAYAN

dRRe A AAIFR, A°YER I QIVISe YIRF 9T A6RRSIR
QUEQIB AUQ AN

1
2
3
4

—_— — ~— ~—

Correct Answer: 4) QJEQIS F1UQ AAG

Candidate Answer: 1) Q699 2I9R%

QID : 193 - 59 QiaY Agd @RI AR AF0IQ IR FRT GG @G | AdYICER, FVRENER DAL
JBNQIE YRAUIQ L6EIYS AR AR INIFE QAR TRGIFNQ NS FAB |

Options:

1) 9ge
2) GoIQ
3) ARepe
4) RIS

Correct Answer: 2) QoI

Candidate Answer: 4) IR

QID : 194 - g4%: &9 Q94 Qg @AQI AR AZ0IQ IR TRE GAR AAG | KRR SRR
QAREAIGT GGl |

Options:

1) N2l @R0e QR6RIS AT Q6Q

2) 4@ JRKIGIF 2°E1QIQ QIR ATR K6

3) 92l gIgRIeea Adgd @°g@ 1e° I9I0g 69186 K6
4) QUACAIB AIQ ANY

Correct Answer: 4) QJEQI8 A1UQ AAQ

Candidate Answer: 3) @l 818719 294 A°YR Ie° F0I0q 692ES F6a

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

19/68



10/8/2019

Odisha Teacher Eligibility Test

QID : 195 - 2IAEIF VY 64I0IF AR @RI ATR *TAER
Options:

1) Q2I2Q QAECKIG @A

2) 6401w QUEQ IR 6QQ

)
) —
3) Qag A6aRIR
4) g8l AAAEQ 2AYQ 62Ql

Correct Answer: 2) 6401w QU6Q IR 699

Candidate Answer: 2) 690I@ QU6Q JIR 699

QID : 196 - 390 SIGFIAT QAR 6RIIR AUEA RIZG IR 6T 2IQHQ?

Options:

1) 699 FFRAIER LIFFINT AL QAR 6AIEIR AU IR GUF 6ACIATA FF AT 2R 2SR

2) 699 JARTNEE BIFFIAT AT KR 6QNER AUEQ AIF TG 62716R FIFAIER Fag AAIRIF AARIER AILIAY
2]

3) 692 FARCI6R BIGFIw d2 QAR 6lER AU6A U G2IF 62FIER ARRIR FIAl 2R AAL BT
4) YIFIE K24 619 QAR AITE IR 6QAIQ 6TIOT AR QIE?

Correct Answer: 2) 699 d99¢169 FIGAIRE A2 QAR 6Q19R AUER UIF GAUF 627I6H BISAIEH Fag
JAYRIE RQQ6Q AIRIYY FQE |

Candidate Answer: 3) 692 J997I6R SIGAIRE A2 RIR 6914R AUCA AIQ G2E 627I6R ARQIA FIal
YR 90 GBI

QID : 197 - QUI@Qd-aAgQla NG o8 @6 F9 699! AN LR FAUAN -
Options:

1) QI QS
2) 36941 QU3

3) YR

4) 64 60193 VA AVCAITR FAE
Correct Answer: 1) <€Id1gt QU

Candidate Answer: 4) 64 6@16d QIFIQ QUCAIGR FAC

QID : 198 - 59/ g99e Q9 Y@ ATAER K68 8@ 1a° Q1P | 694 I8E QYRg0 621RE?
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)
) §ig1i1-6859 A8%
3) SYUQL-605@ 98T
) ARG ARG

Correct Answer: 2) dQI21-635a 0986

Candidate Answer: 1) d3@-6@5% A8G

QID : 199 - AFQIAQ 676 ABEG 2UDA AGY BIYAIATA 2IGe, YA 99° A7l 9F @6Q?
Options:

1) INIR G

)
2) 26RSR| ARG

3) 6AIRRIeR F6ad ARG
4) 2U9Q QIFQITE A8F

Correct Answer: 2) 2I6RI9%I A8G

Candidate Answer: 2) 2I6RI10%I A8G

QID : 200 - QI945Q Q¥ QG491 AIR RAYS YIRIOR 9UR K9G| A4 18 2T 60 Qd 629 QIF
*Qes?

Options:

1

) 6969696%
2)

)

)

w

6@6
@9
4) 62Q016Q

Correct Answer: 2) 666G

Candidate Answer: 2) 6Q6%

QID : 201 - 0] Q6KIee A9 AL 494 AR Jodl *agl 43 2198191 Q0% 6961 AN Ade 9@
Q¢S 621983

Options:

1
2
3
4

A&, oreesm
Q€8 gex
gag, GloIQ
&g, <l

—_— — ~— ~—
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Correct Answer: 2) 998, 6%

Candidate Answer: 3) ¢ag, GI0IQ

QID : 202 - GURGERRIR 918 6MGIG-

Correct Answer: 1) dg

Candidate Answer: 4) QI9

QID : 203 - O) Q68194 Tl AR JAE RAGI IAR FITI6Q AR PRAIER IR Qe AN AQE!

Correct Answer: 3) Q96

Candidate Answer: 3) Q@0

QID : 204 - gRIaQ 2¢l 6RYF- A4l 371 6QIRIY FIT
Options:

1) @109 69IRNIY AR YL

2) Q4IGR1 69163 60IRIA Q1T
3) 199 AR GG
)

~— w

4) J6R19 OM JOEG AR &8 QA &I

Yo

Correct Answer: 4) J604@ Qf 9Q4G QIR @8 QY 2

Yo

Candidate Answer: 4) J604e @ 904G IR @8 QaQyl 2l

mYwZmEONzg50GZ...
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QID : 205 - FORGYE TG UIFQ TG AP NQ° FFI6Q T2 AIRYQI Il JE00 Q@ GaF : J9as 9@
JoR dAL YR FIeR QLR VGRS JIRAINFA QUEE | A6Q Fgeial ARG AIRQQE I8 F1-IER
Q@8 RICRIHR, ARLAIHR, AAARTR AR, FCAETEL, 66R, ALl ARG, QAR IS° AN @08 Q| 1T
J98Ie FRIQ A6AR ALIATAR G67 71l 62IANEL, 6A0IER 6AGEY 6816 6816 AIFR V1QAIER S F2E
Q° 6Q9ER 659@ BlIQY g5rrca ATM 62RQIZIZI 6TFITRAISH IRl (1 ZITVQ @A8E 64 F1IAQ FIQl
606 A3 A8 2l AIRE G121 21T IR FIRI AL ALER a9 621R AIQRID IS° 68T6R 2I6A HIRYRI AIF
e QIS6Q 928 Q1R8] g9ue A696R 69157 G6L | 9RQ Q2] 6IF6R 4G SAFT AZFIAM ALIE SIRAI
| 91, 6QUFIQ AARAE, 657 FEFRIAINIR 9a° GG gfiadt 98 99oe 22FFRQ 8T Y&° 78 |
I 2R AR V1A AARINAR, AGISIT, SRR I° IR 6801q GG camelN|

FIRYG FRIQ 6966 @09 QISR Ad 26372
Options:

1) 4G Qe

2) 2R Qed

3) IERI9R 8 Q&R
4) 9190« Q29ee

Correct Answer: 3) Q16919 G QI&R

Candidate Answer: 4) 9I9o® Q29ee

QID : 206 - FIRYE GGG IR AT ALY Ie° FF6a G2l ARSI 9§ J6a0 Qaa T2 : J9as @
JoR dALYRQ FIee QLR VGRS JIKAINEA QUEE | A6a Fgeial ARG AIRQQE J98R F1UIER
Q28 R1ERIER, RN, AAAFR AR, FTAERE, 69, AL AAG!, &R I° A A0S @gl &
JoER FIUIQ YRR ALIATAR 067 @7l 62RAAEL, 6A0IER 6AFEYF 6816 6816 ACFR LA HIn T2
Q° 6QGGR 659 ¢IIQY Erecq ATM 6RIRMIIZ| 6TRITRAISR a2l i TS *A8T 69 AIQ FIAl
606 A9 B8 G2l A8 G121 2T IR FIRI AL ALER Y@K 621R VIQAIE IS° C8T6R 26A HIRYRI AIF
e QIS6a 928 AIRE] g9 AE696R 6915R G6L | 9RQ Q2] 6IFER 4G GAFT AZFIAM ALIE SIRAI
| SR, 6QAUFIQ AARAE, 657 FEFRIAINR 9&° GG gfiadt 98 Joe 2FFRQ 998 Y&° Fase |
9I9 26AR AR FAFTQ JARIAAR, EAIFNEAS, IR 1° IS 68R1g TG QRN

PRGOS AR 699 QINIT AGY g6L?

Options:

1) @iad 07 9I9ER Q2 8F F19 AIRFA J9Re WA 9oL @RI

2) QIGRIER B QGF ARYER YIQER J98e AT

3) SRSIRTIRE FIl JGIR JIdgeR AGIe 62PN ¥&° 6A9ER IR HR6a AFM 6TIRQI2IT)
4) QI8Q 6 @09 Qd4ag)

Correct Answer: 2) Q15QI9Q 8 Q57 AAYFR JI9Ee 999 AT

Candidate Answer: 4) QI8 6 @08 9diag|
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QID : 207 - GRS QUGG UIFQ TG AP NQ° F7I6Q T2 AIRYQI Il G0 Q@ GaF : J9as 1@
JoR JAL YR FIee QLR VGRS JGIRAINTA QUEE | A6a Fgelal ARG AIRRQE IR F1-IER
QE8 RIGRHIR, AVARIIR, AAAFR AGAR, GTAETEY, 60R, ALl AN, YIR IS° AR 0L Q| T
Jo8Ie FRIQ 26AR ALIATAR G67 71l 62IRANEL, 6A0IER 6AGEY 6816 6816 AIGR V1SR S F2T
Q° 6Q9ER 609@ BlIQY gErrca ATM 62RQIZIZI 6TFITRAISH IRl (1 ZITVQ @A8E 64 F1IQQ FIQl
606 A3 B8 2l A8 G121 2T IR FIRI AL ALER GO 621R AIQRIE IQ° 68T6R 2I6A HIRYRI AIF
AIee QIS6a 928 AIRE] g9ue AE696R 68157 G6L | 9RQ Q2] 6IF6Q A1 SAFT AR ALie SIRAI
| IR, 6ARIQ VARAE], 657 FEAIRIAIGIA IS IR QIR AR PIgee 29Eaa 9IeEY Y& fasq @
49 26AR AR V19T AARGAAR, CAGISLIC!, FIRIQ Y° IR 6801q GaIG 6ama|

@ AIEARQ RELFI6EQ ARFERR 28l @'&1?
Options:

1
2
3
4

QACHRG FQQ
RACFRS KR
adie a@Ql
QU /A<l

—_— — ~— ~—

Correct Answer: 4) @gf @3l

Candidate Answer: 4) Qg @09l

QID : 208 - FIRYR FQI*aIQ JIFQ AZG AQF Y° FCI6Q G2l YRRl I G0 QAQ §2F : 216 g¥ @g-
QLR (JRAIER e

69616 6Q016R g6

@6 98 QaQ 93

@2QIq Sl6w

QL@ 9GS aam

@€ N2l AGY?

QUGG 98 FQQ!

P68 @ QUGN Q6L

QIR |IGY 2T AR 6RYE ?

\Z AMQ ARUER AQOIQ ARG @'§1?
Options:

1) 39 9gi8

2) QU9

)
) < —
3) AAEBAR QIR
4) 219 @AULIRQ Q2 AL

Correct Answer: 2) @IoN

Candidate Answer: 2) @laly
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QID : 209 - FIRYE FUIPEIR JIFQ ATG UG Y° FCI6Q G2l YRR I G0 QaQ G2F : 2I6A ¥ @g-
QDG 9EFIIER e

601G 6QCER 26m

@€ T 929 98

@391 G168

QL@ 9GS aam

@81 gl QIGY?

QUGG 98 FQQ!

P68 @ QUGN Q6L

Q12! |UISY 2T AR 6RYE ?

21661 QI 2R VUGG §@ 2IR?
Options:

1) 2IQ RIQE 62RE 2I6E 2IF F1IREQ AFLYR 2 *ALIR QYR QAT THAER 2R Q2R
2) ¥2IQ 194l 628 21671 AR FUA A6LL KRR

3) 9210 AIQG 628 2I6e el R A FEIQ!|

4) 42IQ QIS 6228 2I6¢1 ARK ASEI AT 28 FQ Q2R

Correct Answer: 1) 2IQ QIQ4l 628 2I6A 2P F1RR6Q AFYR! S *ALIR 2SI AGEI VAR 2R
QZIR|

Candidate Answer: 3) 92IQ Q104 6208 26 2iF 38 AUGQ FAIS|

QID : 210 - FORYR FIQI*EIQ JIFQ ARG UQP I.° FCI6Q G2l YRRl I G0 QaQ GG : 216 J¥ 9g-
QIBG gEIER g6

697G 6Q716R 26m

@6 @ 929 98

@29Iq Sl6w

A2 9GS aam

@&l 42l AUGY?

QGG 9§ Q!

768 @ QUGN Q62

Q12! [USY ST AR 6RYE ?

(1269 FAAGERRIR 99 @'&?
Options:

1) Q9

2) aeqgd
3) AbaId
4) a9

Correct Answer: 3) QG2/1d

Candidate Answer: 4) 2Qq|
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QID : 211 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

He hopes / to finding / a new job.
Options:

1) He hopes

2) to finding

)
)
3) anew job.
4) No Error

Correct Answer: 2) to finding

Candidate Answer: 4) No Error

QID : 212 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully.

John (woken up when) he heard the ruckus outside his front door.
Options:
1) woke up when
2) waked up when
)
)

3) waking up when
4) No correction required

Correct Answer: 1) woke up when

Candidate Answer: 1) woke up when

QID : 213 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

The boys are going to play cricket.
Options:
1) Cricket will be played by the boys.
2) Cricket is going to be played by the boys.
)
)

3) Cricket was played by the boys.
4) Cricket shall be played by the boys.

Correct Answer: 2) Cricket is going to be played by the boys.

Candidate Answer: 3) Cricket was played by the boys.
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QID : 214 - Select the word that fills in the blank correctly and completes the sentence
meaningfully.

The day of my life was when | received the letter that said | had been accepted as
a doctor.

Options:
1) happier
2) happiest
)
)

3
4) more happy

Correct Answer: 2) happiest

Candidate Answer: 2) happiest

QID : 215 - Select the word that fills in the blank correctly and completes the sentence
meaningfully.

'We won't let you down,' he replied

Options:

1
2
3
4

confident
confidently
confidence
confiding

—_— — ~— ~—

Correct Answer: 2) confidently

Candidate Answer: 2) confidently

QID : 216 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Jovial

Options:

1) Cheerful
2) Tender
3) Hesitant
4) Censure

Correct Answer: 1) Cheerful

Candidate Answer: 3) Hesitant
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QID : 217 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
Morbid

Options:

1) Cheerful
2) Nasty
3) Liberal
4) Notable

Correct Answer: 1) Cheerful

Candidate Answer: 3) Liberal

QID : 218 - Select the word that is spelled correctly.
Options:

1) Cotage
2) Kotage
3) Kottage
4) Cottage

Correct Answer: 4) Cottage

Candidate Answer: 4) Cottage

QID : 219 - Select the most appropriate 'one word ' for the expressions given below.

Constant in effort to accomplish something; attentive and persistent in doing anything
Options:

1)
2) Diligent

3) Incandescent
4) Fluorescent

Effervescent

Correct Answer: 2) Diligent

Candidate Answer: 2) Diligent

QID : 220 - Select the option that best expresses the meaning of the idiom or phrase given below.

"To judge a book by its cover’
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Options:

1) to do something badly or cheaply

2) to read a book and give a review

3) to write an article on a topic

4) to judge someone or something based solely on appearance

Correct Answer: 4) to judge someone or something based solely on appearance

Candidate Answer: 4) to judge someone or something based solely on appearance

QID : 221 - Which one is not a Non-fictional prose?
Options:

1)

2) Autobiographies
3) Journals
4) Articles

Narratives

Correct Answer: 1) Narratives

Candidate Answer: 1) Narratives

QID : 222 - When a prose examines different opinions and facts, coming to a concrete conclusion
—itis called

Options:

1) Descriptive

2) Informative

3) Argumentative
4) Narrative

Correct Answer: 3) Argumentative

Candidate Answer: 4) Narrative

QID : 223 - The manner in which an author constructs sentences and uses words is known as

Options:

1) Style

2) Plot

3) Point of view
4) Theme
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Correct Answer: 1) Style

Candidate Answer: 4) Theme

QID : 224 - The figurative language or visually descriptions in a literary work is

Options:

Correct Answer: 2) Image

Candidate Answer: 2) Image

QID : 225 - “Susan’s father passed away this morning.” — Identify the figure of speech here.
Options:

1)

2) Oxymoron
3) Assonance
4) Euphemism

Simile

Correct Answer: 4) Euphemism

Candidate Answer: 3) Assonance

QID : 226 - Which of the following is not an objective of teaching an essay?
Options:

1)
2) To develop creativity in students
3) To help students in arranging ideas in an organized way
4) To develop curiosity in students

To mould a student’s character

Correct Answer: 1) To mould a student’s character

Candidate Answer: 4) To develop curiosity in students
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QID : 227 - How many types of activities does Continuous Comprehensive Evaluation or CCE
method have?

Options:

w -
A O W N

2oepr=

Correct Answer: 2) 3

Candidate Answer: 3) 5

QID : 228 - The micro-process of Reading in which students learn to share their ideas and how to
talk is known as

Options:

1) Post-reading session
2) Individual reading
)
)

3) Collaborative reading
4) Reading aloud by a Facilitator

Correct Answer: 3) Collaborative reading

Candidate Answer: 3) Collaborative reading

QID : 229 - Which among these is not a step of the Herbertian Model?
Options:

1) Declaration of the topic

2) Model reading by a teacher

3) Silent reading by students

4) Learning the topic by heart

Correct Answer: 4) Learning the topic by heart

Candidate Answer: 3) Silent reading by students

QID : 230 - “For sweetest things turn sourest by their deeds; Lilies that fester smell far worse than
weeds.” — These lines are an example of
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Options:

Correct Answer: 2) Couplet

Candidate Answer: 2) Couplet

QID : 231 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The major err in the ways of “to be human” is that we are programmed in a way that we cannot
acknowledge anything that is beyond our comprehension. This innate narcissistic nature of the
humans is indubitably evident in the pages of history. The civilisations drawn and their
inconsequential existence ever so recorded and put on display, to be admired and crowed upon is
filled with lies to fill the gaps of ignorance. Simply put we value our existence far beyond the
veracity of it. We exist on a micro scale in the bigger scheme of things, functioning and operating
to everything we can comprehend and anything outside of that we fill these gaps with irrelevance.
An example of this is our understanding of death and how do we process it. A man of god
believes, that there is life after death, incarnations and reincarnations or living in a plane outside
our reality commonly referred to as Meta plane or Astral plane, speaks for the case. Our reality is
only finite within the compounds of our belief and belief is a complex structure of subtle lies.

What are the planes out of reality referred to as?
Options:

1) Dream world

2) Astral plane

3) Astral plane and Meta plane
)

4) Meta plane
Correct Answer: 3) Astral plane and Meta plane

Candidate Answer: 2) Astral plane
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QID : 232 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The major err in the ways of “to be human” is that we are programmed in a way that we cannot
acknowledge anything that is beyond our comprehension. This innate narcissistic nature of the
humans is indubitably evident in the pages of history. The civilisations drawn and their
inconsequential existence ever so recorded and put on display, to be admired and crowed upon is
filled with lies to fill the gaps of ignorance. Simply put we value our existence far beyond the
veracity of it. We exist on a micro scale in the bigger scheme of things, functioning and operating
to everything we can comprehend and anything outside of that we fill these gaps with irrelevance.
An example of this is our understanding of death and how do we process it. A man of god
believes, that there is life after death, incarnations and reincarnations or living in a plane outside
our reality commonly referred to as Meta plane or Astral plane, speaks for the case. Our reality is
only finite within the compounds of our belief and belief is a complex structure of subtle lies.

From the context of the passage as a whole what conclusion do you draw from the line ‘This
innate narcissistic nature of the humans is indubitably evident in the pages of history’?

Options:

1) Humans are egocentric and this information is well-documented from the amalgamation of the
knowledge of our past.

2) Humans are selfless and this can be observed in our history.

3) Humans are ignorant.

4) Humans are very fond of themselves and tend this has rewritten the pages of history books.

Correct Answer: 1) Humans are egocentric and this information is well-documented from the
amalgamation of the knowledge of our past.

Candidate Answer: 3) Humans are ignorant.

QID : 233 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The major err in the ways of “to be human” is that we are programmed in a way that we cannot
acknowledge anything that is beyond our comprehension. This innate narcissistic nature of the
humans is indubitably evident in the pages of history. The civilisations drawn and their
inconsequential existence ever so recorded and put on display, to be admired and crowed upon is
filled with lies to fill the gaps of ignorance. Simply put we value our existence far beyond the
veracity of it. We exist on a micro scale in the bigger scheme of things, functioning and operating
to everything we can comprehend and anything outside of that we fill these gaps with irrelevance.
An example of this is our understanding of death and how do we process it. A man of god
believes, that there is life after death, incarnations and reincarnations or living in a plane outside
our reality commonly referred to as Meta plane or Astral plane, speaks for the case. Our reality is
only finite within the compounds of our belief and belief is a complex structure of subtle lies.

According to the passage, how much do we value our existence?
Options:

1) Beyond the truth of it.
2) Beyond the lies of it.
3) Beyond the limits of it.
4) Beyond the reality of it.
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Correct Answer: 1) Beyond the truth of it.

Candidate Answer: 1) Beyond the truth of it.

QID : 234 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The major err in the ways of “to be human” is that we are programmed in a way that we cannot
acknowledge anything that is beyond our comprehension. This innate narcissistic nature of the
humans is indubitably evident in the pages of history. The civilisations drawn and their
inconsequential existence ever so recorded and put on display, to be admired and crowed upon is
filled with lies to fill the gaps of ignorance. Simply put we value our existence far beyond the
veracity of it. We exist on a micro scale in the bigger scheme of things, functioning and operating
to everything we can comprehend and anything outside of that we fill these gaps with irrelevance.
An example of this is our understanding of death and how do we process it. A man of god
believes, that there is life after death, incarnations and reincarnations or living in a plane outside
our reality commonly referred to as Meta plane or Astral plane, speaks for the case. Our reality is
only finite within the compounds of our belief and belief is a complex structure of subtle lies.

From the context of the passage as a whole what conclusion do you draw from the example
referred to present its case?

Options:

1) A man of god believes that he is righteous and henceforth must follow the teachings of his faith.

2) Humans are modest and simple minded and follow what is they deem is correct.

3) Humans are narcissistically proud of their existence and cannot accept the limitations of their
physical presence.

4) Our reality is only a construct of our mind and our mind is only attuned to the subset of lies we
believe are true.

Correct Answer: 3) Humans are narcissistically proud of their existence and cannot accept the
limitations of their physical presence.

Candidate Answer: 1) A man of god believes that he is righteous and henceforth must follow
the teachings of his faith.

QID : 235 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

The maijor err in the ways of “to be human” is that we are programmed in a way that we cannot
acknowledge anything that is beyond our comprehension. This innate narcissistic nature of the
humans is indubitably evident in the pages of history. The civilisations drawn and their
inconsequential existence ever so recorded and put on display, to be admired and crowed upon is
filled with lies to fill the gaps of ignorance. Simply put we value our existence far beyond the
veracity of it. We exist on a micro scale in the bigger scheme of things, functioning and operating
to everything we can comprehend and anything outside of that we fill these gaps with irrelevance.
An example of this is our understanding of death and how do we process it. A man of god
believes, that there is life after death, incarnations and reincarnations or living in a plane outside
our reality commonly referred to as Meta plane or Astral plane, speaks for the case. Our reality is
only finite within the compounds of our belief and belief is a complex structure of subtle lies.

What are major err in the ways of to be human?
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Options:

1) That we cannot acknowledge anything that we cannot understand.
2) That we are too naive to accept our own reality.

3) That we believe we are omnipresent

4) That we believe we are perfect beings

Correct Answer: 1) That we cannot acknowledge anything that we cannot understand.

Candidate Answer: 2) That we are too naive to accept our own reality.

QID : 236 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping drowning
sailors have been common since Roman times. The more we learn about dolphins, the more we
realize that their society is more complex than people previously imagined. They look after other
dolphins when they are ill, care for pregnant mothers and protect the weakest in the community,
as we do. Some scientists have suggested that dolphins have a language but it is much more
probable that they communicate with each other without needing words. Could any of these
mammals be more intelligent than man? Certainly the most common argument in favour of man's
superiority over them that we can kill them more easily than they can Kkill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less we
appear superior when we destroy them.

What are the stories about the dolphins that paint them as the friendliest creatures?
Options:
1) They are playful and joyous.
2) They have been helping drowning sailors from Roman times.
)
)

3) They stalk away the prey when humans are in danger.
4) They exist in a complex society just like humans.

Correct Answer: 2) They have been helping drowning sailors from Roman times.

Candidate Answer: 2) They have been helping drowning sailors from Roman times.
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QID : 237 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping drowning
sailors have been common since Roman times. The more we learn about dolphins, the more we
realize that their society is more complex than people previously imagined. They look after other
dolphins when they are ill, care for pregnant mothers and protect the weakest in the community,
as we do. Some scientists have suggested that dolphins have a language but it is much more
probable that they communicate with each other without needing words. Could any of these
mammals be more intelligent than man? Certainly the most common argument in favour of man's
superiority over them that we can kill them more easily than they can Kkill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less we
appear superior when we destroy them.

"The more we discover about these remarkable creatures, the less we appear superior when we
destroy them." the thought in this sentence matches with which of these options the best?

Options:

1) The more we understand about them, the more we realise that being able to kill them does not
prove our superiority.

2) They are a complex species but are not at the intellect level of humans.

3) The more we understand them, the more we realise how far superior are we as a species.

4) The more we understand them the more we realise our inferiority as a species.

Correct Answer: 1) The more we understand about them, the more we realise that being able
to kill them does not prove our superiority.

Candidate Answer: 2) They are a complex species but are not at the intellect level of humans.

QID : 238 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping drowning
sailors have been common since Roman times. The more we learn about dolphins, the more we
realize that their society is more complex than people previously imagined. They look after other
dolphins when they are ill, care for pregnant mothers and protect the weakest in the community,
as we do. Some scientists have suggested that dolphins have a language but it is much more
probable that they communicate with each other without needing words. Could any of these
mammals be more intelligent than man? Certainly the most common argument in favour of man's
superiority over them that we can kill them more easily than they can kill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less we
appear superior when we destroy them.

What is the most common argument in favour of man's superiority over them?
Options:

1) That we can kill them more easily than they can kill us.

2) That our society is bigger and more observant

)
)
3) That we are at the top of the food chain.
4) That we are the most intelligent species on earth.

Correct Answer: 1) That we can kill them more easily than they can kill us.
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Candidate Answer: 3) That we are at the top of the food chain.

QID : 239 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping drowning
sailors have been common since Roman times. The more we learn about dolphins, the more we
realize that their society is more complex than people previously imagined. They look after other
dolphins when they are ill, care for pregnant mothers and protect the weakest in the community,
as we do. Some scientists have suggested that dolphins have a language but it is much more
probable that they communicate with each other without needing words. Could any of these
mammals be more intelligent than man? Certainly the most common argument in favour of man's
superiority over them that we can kill them more easily than they can Kkill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less we
appear superior when we destroy them.

Why does the author draw the question that these creatures could be more intelligent than man?

Options:

1) Because scientist have suggested that, dolphins have a language but they communicate with
each other without using words.

2) Because they have been helping drowning sailors from Roman times.

3) Because they share certain similarities with us like taking care of the community but what sets
them apart is a language skillset which doesn't require words to communicate.

4) They look after other dolphins when they are ill, care for pregnant mothers and protect the
weakest in the community, as we do.

Correct Answer: 3) Because they share certain similarities with us like taking care of the
community but what sets them apart is a language skillset which doesn't require words to
communicate.

Candidate Answer: 2) Because they have been helping drowning sailors from Roman times.

QID : 240 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping drowning
sailors have been common since Roman times. The more we learn about dolphins, the more we
realize that their society is more complex than people previously imagined. They look after other
dolphins when they are ill, care for pregnant mothers and protect the weakest in the community,
as we do. Some scientists have suggested that dolphins have a language but it is much more
probable that they communicate with each other without needing words. Could any of these
mammals be more intelligent than man? Certainly the most common argument in favour of man's
superiority over them that we can kill them more easily than they can Kkill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less we
appear superior when we destroy them.

What is the passage referring dolphins being friendly to?
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Options:
1) Humans
2) Other sea creatures
3) Everyone
4) no option is correct

Correct Answer: 1) Humans

Candidate Answer: 1) Humans

QID : 241 - Which of the following is/are the strategy(ies) and technique(s) of teaching
mathematics?

|. Written work
Il. Drill work
lll. Supervised study

AR 6995 986 JERIR 6RHR NQ° QAL ?

l. FYS QOF!
Il. @R Q16
. QI0& 2RYIe

Options:

1) Only |
6RQw |

2) Only lll
e@ae I
3)lland I
RG]
4)1, 1l and 1
[, 11 gQe

Correct Answer: 4) |, Il and Il
[, 11 ge° 1l

Candidate Answer: 4) [, Il and lll
[, 11 g@°

QID : 242 - Which of the following is/are the advantages of Drill work in mathematics?

A9Q 6995 980 BR KR NS ?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

38/68



10/8/2019

Odisha Teacher Eligibility Test
Options:

1) Memory of children can be checked

JRIFIER 96 QIS QAN

2) Learnt material can be retained for a longer time
J91 QIRGSI QAR Q14 AFAQ VIR 6Q Sl QIR AIER
3) Accuracy of learnt material can be improved
JHINRYR RAIFIFR FERG! ARG 2Ql AR A6

4) All options are correct

QN8 Gag A0L

Correct Answer: 4) All options are correct
A0 Sag A0Q

Candidate Answer: 2) Learnt material can be retained for a longer time
aal IRl QU Q1 AALQ AR 26Q A&l AR TSR

QID : 243 - Which of the following definition of mathematics is given by Galileo Galilei?

I. Mathematics is the study of abstract system built of abstract elements. These elements are not
described in concrete form
Il. Mathematics is the language in which God has written the universe

JIRRG SRR 986R AR 699 ARIT 69a8E?

. 986 6208 A6 QAR QIR AT G96 QTR AYLR| IR AAILFYER F°F6 Tl 63 986 g6g
Il 986 62ml 9FE QY AILIE AFRIR Gg6a Q97 AR8s

Options:

1) Only |

629w |

2)Only 1l

6Qaw Il

3)Both land Il

Q@ INe* I

4) No option is correct
6163 Qag A0@ gee

Correct Answer: 2) Only Il
6@Qw Il

Candidate Answer: 1) Only |
6Rew |
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QID : 244 - On the basis of which of the following features, we can understand the nature of
mathematics?

I. The study of mathematics gives the training of scientific methods to the children
II. Mathematics involves conversion of abstract concepts into concrete form

FIRYS 696 63568,Q VRGER 267 IR Y8 TAIRA ?

. 9éie 2RJLR TR 6ARITR ARGQ OIS G |
II. 68ieq A96 RITY @°FS ARNAEA QUISR A 9GS

Options:

1) Only |

629w |

2)Only Il

6@Qw Il

3)Both I and I

[ 9@° |l @@

4) Neither | nor Il
| g6< QI Il g6&

Correct Answer: 3) Bothlandll
| 9Q° Il Q@

Candidate Answer: 3) Both land Il
[ 9Q° Il @@L

QID : 245 - Which of the following statement is correct about drill in mathematics?
S8iea @9 AF6R FIRYS 696 a9E6e A0R?
Options:

1) Drill provides an opportunity of self-learning and improvement

G ¢-991Q 18° AL Y@ Z6HIF JIe K6Q

2) Drill work is based on the psychological principles such as learning by doing and law of
exercise

2% QIF A92IPP F109PR AUQ 6 F6a 699 AR FIA FHIAN NL° 2AQHIRFR RS

3) Drill and exercises occupy an important place in mathematics teaching and learning
29 9&° QYA FISR AI0RIR NL° FYAIQ 6VFER IRE RIS TR Q%R @6

4) All options are correct

Arg Sag A0

Correct Answer: 4) All options are correct
A0 Sag A0Q

Candidate Answer: 2) Drill work is based on the psychological principles such as learning by

doing and law of exercise
2% Q9 F92IPR F109EPR AR HR F6Q 69 ARG FIA! FHUIAN YQ° AQIRAR ARS
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QID : 246 - Which of the following is/are the essential constituents of Group work?

Q6096 gd QIFQQ g62Ienta QIRIRgE ?
Options:

1) The problem

QYIS

2) Evaluation

qplee

3) Both the problem and evaluation
QY NQ° CRIAR QR

4) No option is correct

6719d Sag A0 ge<

Correct Answer: 3) Both the problem and evaluation
QY| NQ° CJRIAR QG

Candidate Answer: 3) Both the problem and evaluation
dagl 9Q° (e Q@

QID : 247 - Which of the following is not a reason for keeping mathematics in the school
curriculum?

QQIRAQ AIQRFIER F8G QYA FUAS FEQ 69RG Q62?2
Options:

1) Mathematics is the basis of all sciences

Q86 AP SRIAQ 8@

2) Mathematics is related to human life

Q8 IS F19RQ AL AHGS

3) Mathematics does not provide a definite way of thinking
Q86 TIARRRIQ 9K 5G] QU AR F6Q

4) Mathematics is an exact science

Qe NG gag ARIQ

Correct Answer: 3) Mathematics does not provide a definite way of thinking
Qe FIANARIQ Y@ G A JLIR 69

Candidate Answer: 4) Mathematics is an exact science
JEe IaG gog ARIQ

QID : 248 - What is the importance of formative evaluation?

F0RIRR FRIAAR JeQ K617
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Options:

1) Helpful in monitoring pupil’s learning progress

219Q AR AFAE ADEIV6S ALAD

2) Enables the teachers to adjust their instructions according to the need of students
J90e JRILIQ 9EAIRR 2QA6Q FIa FELIIARIA ATQN FRRIER AVE A6

3) Helps the teacher for correcting learning deficiencies

F9IQ RTQIQ A°CHNUR RARIER FVRG ARIAG! REQ

4) All options are correct

QN8 Gag A0L

Correct Answer: 4) All options are correct
A8 Gag A0

Candidate Answer: 1) Helpful in monitoring pupil’s learning progress
219Q YR AYAG ADEIV6S ALAD

QID : 249 - According to Van Heile Theory, which of the following is not a level of thinking or
understanding in geometry?

QP 62M 2GR 2GAER, FIR 6796 FIFG6R TR I TR IR g6
Options:

1) Formal deduction level
VTR 2I9Q 2Q

2) Abstract level

Q90 29

3) Informal deduction level
QNP SI9Q 3

4) Visualisation level
QAgARREFIF IQ

Correct Answer: 3) Informal deduction level
ARQIARR 2IGQ A

Candidate Answer: 1) Formal deduction level
VTR BI9Q 2Q

QID : 250 - If teacher asks the students of seventh class to classify the quadrilaterals according to
their properties, then the students are at which level of Van Heile Geometrical thought?

J9e 96 999 659 dgIdg GIa AHE AGAN PFNRIFR 699aR ARG 92T, 6069 JTlEIFIce FIe
62 GINoR 02Q 699 IA6Q 288 ?
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Options:
1) Analysis
Q694
2) Formal deduction
IQURR BI(TAAUR GLIR)
3) Both analysis and formal deduction
Q6984 IQ° 2IQUIFR GeR Aae

4) No option is correct
6a19d Qe Q0@ g%

Correct Answer: 1) Analysis
LN

Candidate Answer: 1) Analysis
Q6938

QID : 251 - If A756 is divisible by 11, then what is the value of A?

QG A756 11 QIQl QRIG 99, 6069 A Q FIIR 69667

Options:

Correct Answer: 3) 8

Candidate Answer: 4) 9

QID : 252 - The product of two numbers is 48. If the sum of their squares is 100, then what is the

sum of these two numbers?

QA6 AYa JOTR 48. 9T GIQ 6IARR 6AIFTR 100 94, 666Q A 0E A°YA CANTR 68667

Options:

Correct Answer: 214
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Candidate Answer: 1) 12

QID : 253 - What is the unit digit of 68 x 53 x 76 x 457

68 x 53 x 76 x 45 Q @@ IS 6607

Correct Answer: 4) 0

Candidate Answer: 4) 0

QID : 254 -

What is the % form of 0.313131...(or 0.31)?

%a 2edle 0.313131. (<1 0.31) @4?

Options:
1)1/3

2) 31/99

3) 31/100

4) 49/99
Correct Answer: 2) 31/99

Candidate Answer: 2) 31/99

QID : 255 - The least common multiple of two numbers is 72 and highest common factor is 6. If
the first number is 12, then what is the second number?

906 2°gIa ATE ARG FIFINR 72 Ie° GAE ARSI GIcR 6. galfl AT 12 94, 6061 §o1a YIS
Q81?
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Options:

ELepnp=
S~ W o N
IS SN

Correct Answer: 2) 6

Candidate Answer: 1) 24

QID : 256 - The length of a cube is 8 cm. What is lateral surface area (in cm?) of this cube?
AR6A0Q 644 8 6271 IR ANEIFR UG Y6IR AR (6AF2) @61?

Options:

1) 256

2) 384

3) 512

4) 64

Correct Answer: 1) 256

Candidate Answer: 1) 256

QID : 257 - The length of a rectangle is thrice of its breadth. If the breadth of the rectangle is 6
cm, then what is the perimeter (in cm) of the rectangle?

IRE ZING6HS 63¢a 99 Gaqdl 2IKeeNgta gad A8 6 67 9 606 2IAGEIgR Adk] (637)
60667

Options:

Correct Answer: 3) 48

Candidate Answer: 1) 16
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QID : 258 - If the radius of a circle is 3.5 cm, then what is the area (in cm?) of a circle?

9@ 9@ 98Q QIR 3.5 62T 949, 666@ IR 98Q 6AGTR (627°) 62607

Options:
1) 35
2)38.5
3)45
4)48.5

Correct Answer: 2) 38.5

Candidate Answer: 2) 38.5

QID : 259 - The radius of a cylinder is 3 cm. If the height of the cylinder is 4 cm more than its
radius, then what is the curved surface area (in cm?) of the cylinder?

9@ dReq QI 3 697 241 97 JREQ A9S! GIA GIARIA OIQ 4 6ARFFIA 698 24 6669 TRGA AFIQ!
QIR 69807 (62F2) 69667

Correct Answer: 2) 132

Candidate Answer: 1) 198

QID : 260 - The length of the side of a square is 16 cm. What is the area (in cm?) of the square?

4R QQIRIQ Al 63 16 6371 TENLR 6IGTR (6272) 606672

Options:

Correct Answer: 4) 256

Candidate Answer: 4) 256
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QiD : 261 -
In the given figure, PQ is a straight line. If
x —y = 607, then what is the value (in degrees) of
2% — 3y7?

Jea 96660, PQ U@ 4domeadll 99 x —y = 60°, 6669
2x — 3yQ FIQ (GE169) 60667

R
y X
P >Q
0O

Options:

1) 40

2)60

3) 80

4) 100

Correct Answer: 2) 60

Candidate Answer: 3) 80

QID : 262 -
In the given figure, lines | and m intersect at O. If

Zx = 45° then what is the value (in degrees) of
2u — 3x — 227

Jea 90660 RIae | 99° m 689 @6w O. 4G /x = 45°,
Q1960 2u — 3x — 2z @ (169! E@EE7?
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Options:

Correct Answer: 2) 45

Candidate Answer: 2) 45

QiD : 263 -
In the given figure, AE||BD and AC||ED.What is the
value (in degrees) of x + y?

Jaea §966a, AE||BD «e° AC||ED. 6562 x +y @ g
(G916Q) 6@es?

Options:

1) 130

2) 115

3) 100

4) 105

Correct Answer: 1) 130

Candidate Answer: 2) 115

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

48/68



10/8/2019 Odisha Teacher Eligibility Test

QID : 264 -
In the given figure, AB||CD. If ~CEF = 115°, then
what is the value (in degrees) of #/BFG?

doa 9e6ea, AB||CD | 9@ ~CEF = 115° @4, 6069
oBFGS ¢lIe (§9169) @667

G
A< f >B
F
< >D
C jE
H

Options:
1) 115
2)90
3)65
4)55

Correct Answer: 3) 65

Candidate Answer: 1) 115
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QiD : 265 -
In the given figure, AF||DE. If ZABC = 45°, then
what is the value (in degrees) of ~CDE?

gJea 096eq, AF||IDE @@ ~ABC = 45° @4, 6669
ZCDE2 €115 (G4169) 6@667?

B

AC\\ F

W

W

Options:

3) 135

4) 145
Correct Answer: 3) 135

Candidate Answer: 3) 135

QID : 266 - In a certain code language, ‘ROBERT is written as ‘PQZGPV’. What is the code for
‘TOKENS’ in that code language?

9RG 569 6a1e @ISIER, ‘ROBERT” ‘PQZGPV’ 821961 6% 941 69 621@ 1916Q ‘TOKENS' @ 621@
@481?

Options:

1) RQIGLU
2) SRJHMV
3) RRIGLU
4) SRJHNV

Correct Answer: 1) _RQIGLU
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Candidate Answer: 3) RRIGLU

QID : 267 - In the following question, select the related letters from the given alternatives.
POEM: RRIR :: TRIP : ?

FIRe 94969, 9ae Seaq? 0IQ AHaG G09E AR K93

POEM: RRIR :: TRIP : ?

Options:

1) VWMU

2) VUMU

3) VWMV

4) VUNU
Correct Answer: 2) VUMU

Candidate Answer: 3) VWMV
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QID : 268 -
The line graph given below shows the number of
trousers of different colours in a showroom.

&g Gell YRl MRS GITER 64ll-Q¢16Q FRR QR
GG gl 6QSIN

4000 -
- 50D - 3400
o 3000 -
= g 2500 -
ot 2000 4
= "
= Cﬁj 1500 11800
o = 1000 -
E |
E 500 100 400
Z D T T T T T T 1
A b oag 0 b
Colour | qgf

What are the average number of trousers per colour in the showroom?
64IQF6Q AEQ IE LIALIR IRFINR Yl 6R6G?

Options:

1) 1916.57

2) 1920.57

)

)
3) 1924.57
4) 1928.57

Correct Answer: 4) 1928.57

Candidate Answer: 1) 1916.57
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QID : 269 -
The line graph given below shows the number of
trousers of different colours in a showroom.

@¢) Gell YRl MRS QITER 64l-Q¢16Q TR QR
GRG0 A 6add|

4000 -
- 50D - 3400
o 3000 -
= g 2500 -
.z 2000 -
= "
= Cﬁj 1500 11800
o = 1000 -
E |
E 500 100 400
Z D T T T T T T 1
A b oag 0 b
Colour | qgf

The number of trousers of red colourare what percentage of trousers of brown colour?

FR AR FVARIAQ A°GYl IR AR ERES EBI°E?

Options:

4) 200
Correct Answer: 1) 50

Candidate Answer: 3) 60
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QID : 270 -
The line graph given below shows the number of
trousers of different colours in a showroom.

@¢) Gell YRl MRS QITER 64l-Q¢16Q TR QR
CIORIQR <Pl 6EId|

4000 -

2 Sion ] 3400
o 3000 -

= g 2500 -

S5 2000 -

e

5 & 1500 -

2 1000 -

E 500 -

= 0 |

Colour | qgf

What is the ratio of number of trousers of grey colour to the number of trousers of yellow colour?
9Q QG G <21°‘§I§ 29 ATQ GIRAFIA YA AIGFER ERES?

Options:

1)11:9

2)9: 11

3)7:17

4H17:7

Correct Answer: 2) 9: 11

Candidate Answer: 4) 17:7

QID : 271 - What sequence an EVS teacher should follow while assessing students of EVS?

EVS @ 8gleliq 9QiaQl 9919 EVS 9@ 629 2999 29908 @8Q! 2067?
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Options:

1) Formative assessment

S0RYRe ARIIae

2) Summative assessment

QJg YIS

3) Only summative assessment

6297 VY JUIAR

4) First formative assessment then summative assessment
e GORFIRR FRUILe SIIQ /Y FRYIKe

Correct Answer: 4) First formative assessment then summative assessment
929 SIORERR RUILS G199 VY Rl

Candidate Answer: 4) First formative assessment then summative assessment
g2 FIOReNe (MY Gl a9 g

QID : 272 - ‘Source method’ plays an important role in teaching EVS. Which of the following is not
a limitation of source method?

‘64 6¢1216” EVS 9QIaQia 68960 4RYs Riel AIne @6a | f0R4e 6940 02 995Q QIFIe8s! g627?
Options:

1) Not easy to have easy access to the original sources
R Q29ER6a AL 26eA Anl ALR G6%

2) Use of sources is not easy for untrained person
gd889I9 QIaQ I8 QY NLLIQ ALF §6%

3) Source method is too complex

Q2 9RGE gY@ a6

4) It is not a meaningful method

42l 6163 2eiee 986 Q68

Correct Answer: 4) ltis not a meaningful method
42l 6@163 2lleg 98 gew

Candidate Answer: 1) Not easy to have easy access to the original sources
P QAYERER AL 267 RQI Aew G628

QID : 273 - ‘Project method’ is an important aspect of EVS curriculum. Which of the following is
not a limitation of project method?

‘ge8 995" EVS QI04ger1a 1@ geadd @41 A0 60ed gee 995a QIAIeas! 6e?
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Options:

1) Less Knowledge

@¢l RIQ

2) Difficult to formulate

ge9e @aQl @09

3) Lack of progress in instruction
6281 2GATa ARIQ

4) It is completely meaningless method
gl Qgd 22216 98

Correct Answer: 4) Itis completely meaningless method
gl Agdl 2de1e 98

Candidate Answer: 2) Difficult to formulate
999 QR @09

QID : 274 - Which of the following is not a merit of science fair?
A9 6996 IRIFQ 677 AR 6AIHG! 6L?
Options:

1) To encourage students to think creatively
AR YQeRIIRGIg 591 2RI AR QRAUTS K6
2) To popularise science activities of students
daigha ARIe QIder eede @dalq

3) To give a holistic view to child perception
§4 QUNE q @ ANFTR QTQE G

4) Not suitable for all types of students

AR QIR FRICIR Al QAYS G6L

Correct Answer: 4) Not suitable for all types of students
AR JQ8A SRR AR AAYS 962

Candidate Answer: 4) Not suitable for all types of students
A} AR d9IE1Q AN RAYS 962

QID : 275 - Which of the following is the subject matter of environment studies?

39IQ 6996 0669 F6QTGIQ FA?
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Options:

1) Precautions to be fit
QIYDB 620 IUIFG| 6L

2) Healthy diet

N Sy

3) Sustainable environment
Q0% @Q AAEa4

4) No option is correct
6a19d Sag A0 g6<

Correct Answer: 3) Sustainable environment
Q0@ 91 JRERS

Candidate Answer: 4) No option is correct
6a19d Qo A0@ g6L

QID : 276 - ‘Learning is any change in behaviour resulting from behaviour’, who said this
statement?

‘ARG 6208 2IFANA TRERQ TR AIGAES 6@16T AAIGR ¢, IT AT A @FY6R?
Options:

1) Jen Douglas

696 @RI

2) J.P Guilford

699 Gnecre

3) Robert S. Woodworth
QRIS 9 QRBE

4) Robert Gagne

QQIE GllGIER

Correct Answer: 2) J.P Guilford
600 GReTIe

Candidate Answer: 4) Robert Gagne
QQIS QIFER

QID : 277 - The first ‘National Environmental Education Week’ was held in

6Q 9261 "RIe10 9A6RE SR AYIL" AQFG caRAN |

Options:
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Candidate Answer: 4) 2005

QID : 278 - Which of the following is the theme of environmental studies?

JREQHIGIS FI6QTSNIQ @ VA AR 6967
Options:

1) Things we make and do
2I6A LIl GAUR KQT 1&° *QQl
2) Wildlife

AR

3) Our Space

2 644

4) Solar System

6dIQ 9%

Correct Answer: 1) Things we make and do
2I6q Qigl GAUR KR8 9&° *QQl

Candidate Answer: 3) Our Space
A 694

QID : 279 - The language used in an EVS textbook should be

@ EVS Qi049ge Q4996 QUaIg 621 @GQI
Options:

1) difficult for children

e IR 909

2) related to everyday life

63009 F1e8 ATC ARG

3) formalised with emphasis on definitions
IQEIFR A°F QU6Q 6R1Q G

4) technical and formal

99gB9B ¥e° QaIge

Correct Answer: 2) related to everyday life
639R% F199 ATC AH@e

Candidate Answer: 2) related to everyday life
6QR09 186 ATG ARG

QID : 280 - “All education begins when man participates in social consciousness of his race”, who

gave the above statement?

“A1Y FAIR Yol §4 66 AT GIa AR ACITR 600RIA 26 §6<”, AUEAIB IBFE @4 6TRYEA?
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Options:

1) John Dewey
F0 @R

2) Charles Taylor
Qg 669Q

3) Wilbert I. Odem
QRRIS 2R B6GF
4) Erich Bharucha
QR Q!

Correct Answer: 1) John Dewey
I GeR

Candidate Answer: 2) Charles Taylor
QIR 659

QID : 281 - Barium Silicate and Sodium Silicate are used in the manufacturing of which glass?
620Kl IRERT IQ° 6ATLIT ARERS Q4 B GAURER ELe §97?
Options:

1) Soda glass
6419l Sld

2) Flint glass
Ja a1Q

3) Pyrex glass
dIN6Qg L

4) Potash glass
aglgl el

Correct Answer: 3) Pyrex glass
JdIREQg AL

Candidate Answer: 1) Soda glass
6419l Sl

QID : 282 - Which of the following Festival — State pair is incorrectly matched?

A9IQ 699 Q29 - AIFIQ 6QIG QRAES TR AIRG?
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Options:

1) Losar — Nagaland
ML - QGMIK

2) Bihu — Assam

Qg - 2R

3) Onam — Kerala

Ba¢l - 6aAR

4) Gangaur — Rajasthan
Q6T - QAFAR

Correct Answer: 1) Losar — Nagaland
ML - QOIS

Candidate Answer: 1) Losar — Nagaland
ML - QSIS

QID : 283 - Micro—organism for curd formation are

Q% G096Q AR AIRER! — V19 62RE |
Options:

1) fungi

ger

2) protozoans
6416916@IL

3) virus
VR

4) bacteria
QUIReeRal

Correct Answer: 4) bacteria
QeecRel

Candidate Answer: 4) bacteria
QUIREsRX

QID : 284 - Dongri language is spoken in which state of India?

61T QITI ANGR 629 AINIER FAIAIN ?
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Options:

1) Jammu and Kashmir
&9 6 QI

2) Odisha

6@l

3) Kerala

Caw

4) Assam

2N

Correct Answer: 1) Jammu and Kashmir
o9 6 Qg1

Candidate Answer: 1) Jammu and Kashmir
o9 6 Qg1

QID : 285 - Khond Tribes are found in which state of India?

6HIE 2ITAIA QAR 68 ARIER 6RHIQIF ?
Options:

1) Punjab
aaiQ

2) Haryana
alolie]

3) Odisha
soal

4) Assam
2

Correct Answer: 3) Odisha
eG4l

Candidate Answer: 2) Haryana
QIR

QID : 286 - Dress for men in Punjab is

JBIeQ gRAFIER IR 6QI8IR 23 |
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Options:

1) Sopha
6Tl
2) Phiran
Fee
3) Dastar
Qg
4) Pheta
N1y

Correct Answer: 3) Dastar
Qg

Candidate Answer: 3) Dastar
Qg

QID : 287 - Deficiency of which mineral / vitamin causes Night Blindness in human beings?

626 9% / ASIARQ F99Q AUER 2NN AIRE T F6Q?
Options:

1) Vitamin A
QoIde A
2) Vitamin B
@oIfie B
3) Vitamin C
@eIdie C
4) Vitamin D
@oIdie D

Correct Answer: 1) Vitamin A
QoIda A

Candidate Answer: 1) Vitamin A
QoIde A

QID : 288 - Which ruler made Cuttack as the capital of Odisha region?

600 4Ide R0RY GF4 2HRA ARUIAT FAIRER BAUR FRLER?
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Options:

1) Ashoka

el

2) Anantavarman Chodaganga
2GRS 69190

3) Kharavela

Scm

4) Narasimhadeva |

FQ°26aQ 1

Correct Answer: 2) Anantavarman Chodaganga
2RRAANR 6QIQGIGF

Candidate Answer: 2) Anantavarman Chodaganga
2R 691QGIGF

QID : 289 - Odisha is mentioned as in India’s national anthem “Jana Gana Mana”.

354l QAR FIA1Y A°GG "@Q T8 AR " 6Q FAIFER RAERS @0 6TIRE |
Options:

1) Odiya
sgal

2) Dravid
QaQ

3) Banga
Q&P

4) Utkala
ol

Correct Answer: 4) Utkala
20

Candidate Answer: 1) Odiya
sgal

QID : 290 - How many seats are reserved for Odisha in Rajya Sabha?

QARIARIER BGIIR IR 6RELIT AR A°QAFS?

Options:

—

w N
- = — —
O = =2 0

[6) I e]

H

Correct Answer: 2) 10
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Candidate Answer: 2) 10

QID : 291 - Which of the following is not a part of the Parliament in India?
FIRYS 6966 VINGR A°AGR AGF G6L7?
Options:

1) President

AURLAG

2) Prime Minister

QAR

3) Law Minister

QeI

4) Comptroller and Auditor General of India
Qe FAAR IQ° AINARIRR

Correct Answer: 4) Comptroller and Auditor General of India
QQEQ AR IQ° AINARIRR

Candidate Answer: 4) Comptroller and Auditor General of India
QAR FARR Ie° AR

QID : 292 - Who established “Brahmo Samaj” for social reforms in India?

QIAG6Q AIFIFR A°AQQ IR &4 "FZAFIF" IO RAER?
Options:

1) Ishwar Chand VidyaSagar
NG 0F FMIAIFR

2) Dayanand Saraswati
QUL AL

3) Raja Ram Mohan Roy
Qe QAU 6L QUL

4) Rabindranath Tagore
QYR8 AR

Correct Answer: 3) Raja Ram Mohan Roy
QR ALY 6L QUL

Candidate Answer: 3) Raja Ram Mohan Roy
Qe QAU 6L QUL

QID : 293 - Which organ in human beings convert ammonia into urea?

AIPQEQLR @€l 2P @eﬂ@m@ QAR QJIBQ K6Q?
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Options:

1) Liver
Qe

2) Kidney
99

3) Pancreas
ARG

4) Skin
allalo]

Correct Answer: 1) Liver
AQe

Candidate Answer: 2) Kidney
Q@

QID : 294 - Which of the following is the state flower of Odisha?
A9 Q 6906 GREIR QAIFIQ FR?
Options:

1) Rhododendron
Q6RIELR B9

2) Palash

AR

3) Marigold

diel g@

4) No option is correct
6al9d Sag 0@ g6e

Correct Answer: 4) No option is correct
6@16d dag O@ g6w

Candidate Answer: 3) Marigold
dial g@

QID : 295 - Who is the author of Gita Govind?

QI 6QIRL QDG @4?
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Options:

1) Sarla Das

4wl QI

2) Chaitanya Das
6504 QIQ

3) Sant Bhima Bhoi
8 W1¢ 6Ll

4) Jayadeva
RLELRQ

Correct Answer: 4) Jayadeva
PRACQR

Candidate Answer: 4) Jayadeva
RLACLQ

QID : 296 - S.I. unit of force is

S.1. QIZR1Q YRR I
Options:

1) Pascal
A

2) Newton
FReR

3) Kilogram
@ERIG I

4) Kelvin
6RNQR

Correct Answer: 2) Newton
Solae

Candidate Answer: 1) Pascal
A

QID : 297 - Glucose is a

GERIS 6208 I |
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Options:

1) Monosaccharide
C6R1KIXNARNE

2) Disaccharide
PRARNAREG

3) Trisaccharide
QRN

4) Polysaccharide
ARIRNAURR

Correct Answer: 1) Monosaccharide
6R1KIXNARNS

Candidate Answer: 2) Disaccharide
LIRKIQ AN

QID : 298 - Which of the following is not digested by human body?

390 629G I 622 FIA 2597 94 AIF?
Options:

1) Fats

o4

2) Starch

Qe

3) Milk proteins
QI 6gIGR

4) Cellulose
6AIEMIA

Correct Answer: 4) Cellulose
6QQUEMIQ

Candidate Answer: 4) Cellulose
edQIeMId

QID : 299 - Which Act of British Parliament granted separate electorate for Muslims?

359 AINIEAL6R 629 RS JARA IR IR AR 6RITA AR *QE ?
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Options:

1) Government of India Act 1919
RUAG AR RS 1919
2) Government of India Act 1935
QUG AR AIRe 1935
3) Government of India Act 1909
WA AR 2lwa 1909
4) Government of India Act 1892
WA AR NG 1892

Correct Answer: 3) Government of India Act 1909
QA AARIQ 2R 1909

Candidate Answer: 4) Government of India Act 1892
WAG AR 2IRe 1892

QID : 300 - Who was the first Governor General of British India?

3549 QIR YAF JRTR 6RRIAR @ Jen?
Options:

1) Lord Mountbatten

QG AR

2) Lord Irwin

G AQER

3) Lord Cornwallis

Qe [eEna

4) Lord William Bentinck
G AR 695

Correct Answer: 4) Lord William Bentinck
NG AR 695

Candidate Answer: 4) Lord William Bentinck
QE QAR 69FF
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